24+t 10:30 ~11:30

BE-KgE-7vT 12:00 ~12:30

257 12:45 ~16:15

(2)10km BF

T BF vy pUF:ba F#5 X5  #EFR
M 101 [iE& & JRFR LY 35 |30~39%%| BB
L 102 |/DH ARtL AXF¥ rEYV| 36 [30~39F%| ZEHE
L 103 |RIRE —#t AN hAF| 37  [30~39%% | @EJIE
L 104 |HiE R ALY ZhA 41 |40~49%%| EEHR
L 105 |3RE D1— NURY aqF| 41 |40~495% | KEBRAT
LL 106 |&=48 5LAFE RAND EOZY| 45  |40~49%%| FRER
M 107 |fRi% = AL 7TIY 45 |40~49m%| FER
LL 108 [}RA T HhER N\D S 45 [40~495%| FEEE
3L 109 |FiFE KiE THhY I ETX| 48  |40~495% | Z)I|IE
M 110 [/hNE BF a4 TIRA 48 |40~497%| BER
LL 1M1 |HLE = M PAVEELY) 51  |[50~59%% | #ZJIIE
M 112 &% = ahT 2/ 51 |50~59m%| EREAR
L 113 |;EHE S5k IN\RA ZhER 53 |50~59m%| ERRZR
M 114 [{ERKE Y95 5L 53 |50~59m%| ERREAR
L 115 (WK #82 YYEMEOF| 54 |50~59m%| BHE
LL 116 | ¥ Y4 3 54 [50~59%%| BEHR
L 117 |[A® &t EH/ 7YX 54 |50~59m%| RIKE
L 18 |H)Il & FHhHET M EFX 54 |50~59m%| B%MEE
LL 119 |iEf%k E2 aVRY vHax| 57 50~595% | BHIRED
L 120 (85K &HiE AX¥ EbED 58 |50~59m%| ERREAR

24+t 10:30 ~11:30

BE-KgE-7vT 12:00 ~12:30

3253 12:45 ~16:15

(2) 10km ZF
T BF vy 2VAF F# Ra  #EFR
S 151 | KR & ATArE FIT 23 |20~29m%| ERER
S 152 | Ak &2 LTI FY 27  |20~29%%| BEH
M 153  |Chui Tabia Fa1 ZET 34 | 30~39% | HZEJIR
3L 154 |H% EiE A/ FYS 34 [30~39%%| HEH
SS 155 |48 FE H3IY¥ 1h 40 |40~49%%| FEE
S 156 [FIA #£F N /)3 48  |40~495% | HE)I|E
157 |{AIH# XFXF Ah74 =50 51 |50~59%%| HRIRAR

L 158 |k &Y HIF 41 52  [50~59%% | SR




=24 10:30 ~11:30

BE-KgE-7vS 12:00 ~12:30
7857 12:50 ~14:50
(3)5km BF
B 2VHF FH5 X5 #WMEFR

LL = 201 |E# LE A77F eak 22 |20~297% | HZ)IIE
3L = 202 |3l #AACER YT avsaY | 25 |20~29%% | fRE)IE
L = 203 H ;XBA YRS /)T 26 |20~29%%| ERIEAR
L = 204 Wl BEE AFHhD Zh7x| 38 |[30~39i%| EHEH
M = 205 |#5AK #%th AXF EOY 41 |40~49m%| BHER
L = 206 |{ERAK T Y49 5 45 | 40~497% | MZ)IIR
LL = 207 |BE gEA A4h) /1)K 45  |40~497% | HZ)IIR
150 = 208 |lLH & AT BOA 45 |[40~49%%| HRE
L = 209 |#&H #45h 304 vYRER 48 |40~49% | ERIEAR
L = 210 |EAX & THhES 7YY 48  |40~497% | HZ)IIB
L = 211 (R BA Lk 32/ 49 |40~49m%| BER
L = 212 | KiF @& VA MEIL | 49  |40~497%| FHEH
L = 213 |#kHE & V49 HhL 50 |50~595% | fHEJIR
L = 214 |&F =& +7 hveR 51 |50~59m%| RRZR
LL = 215 |HF &% ALT THIY 52 | 50~59% | HZE)IE
L &5 216 |tRi5 & AR\ UR5 | 53 [50~59%%| BEHR
M &5 217 |thHE &3 475 Q77X | 53 |50~59m%| HEHR
L &5 218 |HLE EX A/ EbEO| 56 |50~597% | fHZS)IIE
M &5 219 |EK & 7AF O 56 |50~59m%| ERRER
L &5 220 |7 7 E YL 57 |50~597% | %118
L &5 221 [;FK =8B Y S uly) 59 [50~59%%| HEHR
L = 222 |kfE &S HhEFH 9P 61 |60~69%%| HAKE
LL &5 223 |&@B FX Bh< ETA 63 [60~697%| HEHR
L = 224 K% IEE 44T <HEn| 63  |[60~695% | MZ)IE
M &5 225 |FiH EX T34 V5F 65 |60~697%| HEHR
M = 226 |f&EL — R N HA 68 |60~69m%| HRRZR

4t 10:30 ~11:30

BE-Kig-7v7 12:00 ~12:30

257 12:50 ~14:50

(3)5km &F

T i 2VHF F#5
M &5 251 |#5K FiF AXFx /U= 14 |[19FLT ?ﬁﬂ"—*m
L = 252 [E# LS ADTF R 20 | 20~297% | fHE)IE
M & 254 |BKEE UIX axx 49  |40~49m%| EEER




24t 12:45 ~13:45

BE-KgE-7vS 14:15 ~14:45
253 14:45 ~16:05
(4)3km BF

T B 2VHF F#n X5 #WMEFR
L =] 301 (&R HREE3} % R ded 8 16 [19RUT|#RIE
L =] 302 |/MHE B = VAN S e Ry ) 19 [19FLUT| /HER
M =] 303 |WEHKR YYD LA 35 |30~39m%| AR
LL =] 304 |&£F =KX hxaaoi 36 |30~39%% | M=)
L =] 305 |EH # I3 7Y 38 | 30~39% | HZEJIE
L =| 306 |HXFE $RER IAOR 4909 40 [40~49%%| BFHEER
LL =] 307 |IF =S Y/ 7Y 41 |40~49m%| LLFLE
3L =] 308 |/MEEB X# FELT AUl 42 |40~49EE| EHEEER
LL =] 309 |fEk K& DOFH FART| 43 |40~49m%| FER
M =] 310 |AMH Z e 45 |40~497%| BB
L =] 311 |&MA % HAAL Y 46 | 40~49% | ERIAD
L =] 312 |FEE Rz Ak EOaF 46 |40~49%%| HERER
M =] 313 |FidA &Rk Hhat kv 47 |40~49% | BRIEHD
M =] 314 |#HE X h<2 7o 47  |[40~495% [ FHE)IIE
LL =| 315 |KE FHA FHIT AR 49 | 40~495% | fHZ)IIR
M =] 316 | E AN TYL| 49 |40~49F%| BER
M =] 317 | KR @& AAXL oD 49 |40~49m% | HEHR
L =] 318 |E5Rk 1B YAk <ak 51  |50~597% | %118
M =] 319 |FH FE T4 VI 53 |50~59m%| BER
L =] 320 |S#k1EEE BHYY JTVR| 53 |50~59%% | )R
L = 321 |ET 8h— IUE aAVAF 53 |50~59m%| EEHR
LL H 322 |(HAZE [EfR ha Zh/7 55 | 50~595% |fHZE)IIR
L =] 323 |AW RIE HEAN < B 55 |50~59m%| FRMEE
L =] 324 | BE— wYLR a4 F| 55 |50~59m%| ERIEAR
LL =] 325 K& #2HE ARIY JIME 56 | 50~59% |fHZ)IIR
M H 326 |frAEl 11T "3IT /7% 58 [50~59k% | MR
LL = 327 |E& 1= 397 eRY 59 |50~59m%| FER

=| 328 |HiEfiE /7 J4) 59 |50~59m%| RIME

=| 329 |At+E EB AHZL ALHF 60 [60~69i%| AR

=] 330 |FHR A ey B s DO 62 |60~69m%| HRRAR
LL =] 331 |=ME FE IvAH HAET| 63  |60~69%%|tE)IE
L H 332 |(BF —F HAEY hAIY| 63 |60~69m% | MZ)IE
L =] 333 |HA HJaz /Js 63 [60~697%| BB
LL =] 334 |iED A AR IHR| 63 [60~69%%| HEAR
M =| 335 [JLIR 7 S IAVEVE 74 | 70~79%%| BEER




24t 12:45 ~13:45

BE-KgE-7vS 14:15 ~14:45
7857 14:45 ~16:05
(4)3km &TF

T B 2VHF FH5 X5 #WMEFR
M =| 351 |EF FnE RALT THT 13 |19 [ ENE
L =] 352 |EZHSHBF T7H4 F3va 26 [20~29%%| BEHR
M =] 353 |=lF AIEF S A g 35 |30~39m%| AR
M M =| /4 |FH EX N2 )+ 37 |30~39%%| HEH
LL =| 355 |HEIR £ 9IYh 3h 43 | 40~495% | fHZ)IIR
L =] 356 |[FA BFE T5% hr 45 |40~49%%| HERER
SS | sS =] 357 |/NEFUG HEF F/HEx Caval 47 [40~498% | TR
S =| 358 |HAt EIKF FHhLZ )33 47  |40~49%%| BEHR
L =] 359 /M BE AHT hES 52 |50~59m%| RME
S =] 360 |{FEE BEA 1k <% 54 |50~59m%| RRER
S =] 361 |AH BT g M b 55 |50~59i%| FIAHR




4t 12:45 ~13:45
BE-KE-7vT 1415 ~14:45
257 14:45 ~15:00
(5) 500m BF
T BT WF tyhy KA pUF:ba F#5 X5  #EFR
M = 401 |h# HFE FHLS TuRA| 13 [198LUTF| HEH
3L = 402 | BB K— NEHD B4F| 17 [19RUT| FEER
L = 403 |ILE Hth YIS 7UY 26 |20~297% | HAE)I|R
L " 404 | E FiE IVYA aAHF 26 [20~29m% | =)
LL | LL = 405 |Lemus Leonel LLR LARIL| 29 |20~29%%| EEZ#ER
L = 406 |46 BA AR=ZD T7XS5| 41 [40~495% | BB
LL = 407 (=@ —1& =5 HX/) 43  [40~49m%| IHFER
M = 408 (WO #E YITF BhA| 44 |[40~49%%| HEH
LL = 409 (188 &K 2997 3Ty 44 [40~49%| BEER
3L " 410 |PTH EH# ATE TYFx 46 [40~49m% | IR
L " 411 |f&H 35k /5 2yER 47 |40~495%| REFE
3L " 412 | R/ = NEHT ERY 48 |40~497%| FER
L = 413 (K BAI YN Sy = DY) 49 |40~49m%| BHER
M = 414 |IAK B IYES Y 49 [40~497%| HEH
M = 415 |/h#E RE Ay YR 50 [50~59i%| BER
L - 416 |&RF BE R oo 51 [50~59%%| HEHR
L " M7 |BHHZ A4/ %Y1 x| 55 |50~59i%| BHEH
LL = 418 |()im FE HITNE UL 60 |60~69m%| ERIEAR
LL = 419 [AFT fR= HILS x| 61 |60~697%| HEH
LL = 420 |KE A FH/ hveH 61 [60~697%| HEHR
24+t 12:45 ~13:45
BE-KgE- 7y 14:15 ~14:45
253 14:45 ~15:00
(5) 500m Z&F
BF tvry K4 2VAF i Ra  #EFR
150 = 451 | IR IVER ATF 9 19 LLT | BRIEHD
150 = 452 |k HIET Lk 2o 10 |19FLUT| HER
S = 453 ({88 ETE T HFHh 12 |19RLUT| BER
M =" 454 |{REk BK = 18 |19LLT| REH
SS = 455 (FIL xR Hhav< )T 41 |40~497%| EEMEE
SS = 456 |RBI A INEHT AGS | 43 [40~495%| HEH
M = 457 (R & Lk MES 44 |40~49%%| BHER
M = 458 |{FB HF 1t ¥Fa 47  |40~495% | HE)I|E
M =" 459 |k &F AT nval 77 | 70~79%% | EERE




4 12:45 ~13:45

BE-KgE-7vS 14:15 ~14:45

BERE 14:50 ~15:20

(6) 1km BF

T BF UV b Fih =3
S 7R 501 |hHE 25 FTHhE 1k 10 | 19T [ENE
M 7R 502 |EER REHZ VA EaIH 12 |19 [ fER)IIE
M Din 503 X EBE AEXEL 2OF 28 |20~29%%| FBE
L 7R 504 |EE ZA AIHF ET/Y[ 34  [30~39i% | ®HE)IE
L Din 505 |BEF && S Y D2 38 | 30~39% | HZEJIE
L 7R 506 |fEIL K& Jav~v EOY 43 |40~497% | )R
L Din 507 (1T A BTOF ETX| 44 |40~49i% | MZ)IIR
LL 7R 508 |HEH B— 204 7oA F 45 [40~49%%| HRE
L Din 509 [(fRA FEE FUEN VR 46 |40~49m%| BREEHD
M i 510 |&H# FX YRIY A9T | 46 |40~495% | @SR
L Din 511 |'&Z& KEB AN 2O 47 |40~49% | HRIEHD
L i 512 |R#E &5— FHNY FEAX| 47 |[40~49%%| FHBEE
L i 513 |[RHE K& INSHE BARG| 49 [40~495%| HEH
LL 7R 514 |IEH K& HI54 AR 49 [40~49%%| ZHEER
L i 515 |E% R# hr/ eO/Y 50 |50~59m% | MZ)IIE
L i 516 |&A Hid Y ZREF ME/Y| 51 |50~597%| EHIEH
L i 517 | H EE FhBETAS 53 |50~59m%| BIE
L 7R 518 |&H)II —Bf ILHhT 4FOH| 53 [50~59i%| BHEEHR
L i 519 |B&K #z JV% EOaXx| 55 |50~59%%|fZ)IE
M 7R 520 |#fLU 1E LSVYT AFL| 56 |[50~59%%| HER
L i 521 |3kEF ML X/ THy 56 [50~59%%| HIEHR
M 7R 522 |FF &z E FEAF 56 |50~59m%| RREZR
L i 523 |{Fik &MB AbH IALTF 57 |50~59%%| HEHR
L 7R 524 |KiF BER FAvh 7xeEn| 58 [50~59r%| HIRER




?

Z At
BE-Kig-7v7
85

(6) 1Tkm &F
vy K4

12:45 ~13:45
14:15 ~14:45
14:50 ~15:20

2UHF

i

=3

n
wn

riIZ2lun|[ZT|un|ZE|lwn|r|Z|lulr|Z|lun|lZ

n
2]

=<

<

w
—

551 |BF A% Sad =Lyl 10 | 19T [ENE
552 | KHI E#& AA<T I 1 19U [ fER)IR
553 |2A ®E EFUX YT 1 [19RUT|#RINE
554 |{RE: Eiz 1t b 12 19T [ #ENE
555 [#LIU EiR TILNT I 12 [19RUT | =g
556 |HiE KRB FTHhYD 45 12 |19 [ fR)IIE
557 |hH £ FTHE 2JF 13 |19 [ENE
558 | Lih EA HEF UK 16 |19 [fE)IIE
559 |{REk #A7h Ak 7Y/ 27  |20~29%%| BER
560 |& &R FH Ik 31 [30~39%% | H=JIIR
561 |Bm EF E+4% 540 50 |50~59% fHZE)IE
562 |fRiEE AYUF Ak T3 52 |50~59m%| RRZR
563 |/MHK FOIT a1\ AXI| 52 |50~59%%| HRIEHD
564 |[/NEEE I FTEH LA 56 |50~59m%| RRZR
565 ([ & AHhYF Eena 58 |50~59m% | IR
566 |[{EAQK #3%E i e 63 |60~69m%| RRZR
567 |Ei% EF <7 1)aya 66 |60~69m%| HRREHR
568 |4 BT ThENV/T 75 [70~79m%| BR#R
569 |[RH Fi INDHE hA) 40 |40~49m%| EEHR




